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PART A — (2 x 12 = 24 marks)

Answer TWO of the following in about 500 words each

\Qeireu(meuaraupmier @ ety h@ geubeunm allameilh@Gn gnssmp 500 Qamhsefled
L WG &S LD.

1. State the features of the small scale industries policy. List the measures taken
by the government of India to develop small scale industry. .
Ao Osmfer Qsmaresuier Apliy smpsmar aBSH®IESLD. @idwmaile &m
Qzmfled GbUT g HETET ATE ST (PEDDSEDET auflensiL (SIS

2. Define poverty. State the basis of poverty line measurement in India. What are
the steps taken by the Government to remove poverty line in India?

aimmw-clarssd sme. Gpdwrele aumn@wsGsn) wdulSE ergen Sigliue@Luie
CupQamareTtiuGEDE TETUMSS Samis. GUMIEOLIL Gumés @bHu  irs
CuHEsTemL HL6llg SESSHET GTeTe ?

3. “Technological improvement is an essential but not a sufficient condition for
agricultural development in the country”. Discuss
“Brigen efleusmu geopn eueniEdss, Csmblopu auatiEdl @ SgliueL Gw
parmed Gurgwrasde” - dleurdlés.
PART B — (2 x 7 = 14 marks)

Answer TWO of the following in about 300 words each.

GéaupeuareunmiaT @ remigh@ geiGeun elammeilhGb gpssTp 300 Qemhsatie
afenL_watlEseaLb.

4. Explain the basic objectives of NITI — Aayog in India.
Gpdwureder B - <Cursslen iigLLoL GO&ECsTaaman 6lleTs@s.

Discuss the merits and demerits of globalization in India.
@pHurele 2 @sLULIEEOTD FHULL ETSE LITES Hlevasoar elaurdss.

ot




Critically examine the Population Policy. of India — 2000. ,
20001b- GemgHaTar @pHwunelen Lss QsTmss Qana@msmi <mie Qsiis.

PART C — (5 x 4 = 20 marks)
Write short 'n'ote’s on FIVE of the follqwing : |
Serepesamape @bd@ise Ap GRS awEs
(a) Disting}lish Economic growfh and Economic development

Qummermgny eueri&dl wHmd Qummmerngmy @@Gmmpgﬁb@m o GTeT
- Gaumur®. : .

~ (b) Role of public sector
| | Qungjggjmmuﬂsh LIk
(¢) India’s population density
@iHwreded wisar Agrens LGS
| (d) The concept of land reforms |
Ha Eidmssmiser
(¢) Monopolies and Rest/rictivé Trade Practices Regulations (MRTP)
womflenn LHMID sLEUUTC(H aiisss BLpapuien Qﬁlg_f,]@e;)ma;df
(® . Export and Import policies '
‘ghmiwd whnib @né&Gnd Asmdarams
(g) Second Generation Reforms
@Uaim_mbz Bene Ly
| PART D — (6 X 2 = 12 marks)
Answer SIX of the following very briefly: |
Lﬁlmm@mmm,rj)g;eﬁ 12 TETG &@é;&Lonas clenwefléaaib:
(a) dJoint Sector
am_'_@g’sgjmg)l
(b) Frictional unemployment
ApPlepapéEL L Gaumeaudéraio
(¢) Agricultural Credit -

efleusmu &L_ei
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(d)

(e) |

®

(®

(h)

Cottage Industries
@w&é QAsmfle
Trade Urﬁons |
Qasmflh srisRISET
Deficit Finanqing
upprs@@D HSH®
Quotas

@élésé%@w
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